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P12 (plot by DAT)

60 80 100

Days After Transplant

40

® ..ﬂ
Y
||. -
AR
“ _4 _4
4::..4 Le -®
L le *
4+ rl* r. I
W _Le 4* _4 _4
.w-m v 1, -0 1,
1 ﬁm _u* _uﬁ lﬂ le
“ Ee ® ‘o * i
_II.*_I_ | _uﬁ -9 “
] - 1 ! _r.4 *
“ TN N L
e "¢ T 7 P
_.O -9 -9 -9 I “
1 _r _I. _l. r.‘ I
i SRR R P P
3 * - !
_I_ .H. _I.. “. _I|+
.............. 4_\---_%---_..4.--4.-4----#---
4.:0 —o r.a..o“ “
1 _I' __II.*“
|‘ | “. jLt=———®
‘e o TV
e '? 1 !
s T O
RO
"t L
2]
-9 _|.m||!o
P g
1 | ..m
r::* <
b °
“ o
I <
1 T
1 ©
b e @
= 3 R S R m S e

Buippng a1y sAeqg

20



P12 TsN1 (plot by DAT)
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Days After Budding

P12 TsN2 (plot by DAT)
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P12 TsN3 (plot by DAT)
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P12 TsN4 (plot by DAT)
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Days After Budding

P12 TsN5 (plot by DAT)
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Days After Budding

P12 TsN6 (plot by DAT)
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P12 (plot by adjDAT)
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P12 TsN1 (plot by adjDAT)
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Days After Budding

P12 TsN2 (plot by adjDAT)
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P12 TsN3 (plot by adjDAT)
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P12 TsN4 (plot by adjDAT)
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Days After Budding

P12 TsN5 (plot by adjDAT)
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Days After Budding

P12 TsN6 (plot by adjDAT)
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Plot [['sfTemp’, 'sfInit’, 'sfDev’, 'sfDem']]
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Plot ['sfDemLfA']
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Plot ['sfDemFrV']
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-— T — optT1
304 —— Tdew 40 A —  optT2
— To
25 - 351
30 A
20 A
25 A
15 A
20 A
10 A
T T T T T 15 T T T T T
0 5 10 15 20 0 5 10 15 20
hr hr
80
—_— T —— O0ptRH1
30 A —0— LT —— optRH2
60 -
25 A
40 A
20 A
20 A
15 A
10 - 01
0 5 10 15 20 0 5 10 15 20
hr hr
1400 A |
80 -
1200 - —&— PPFD
60 -
1000 A
40 A
800 A
20 A
600 -
0_
400
_20_
200 A —_—
=
0_
0 5 10 15 20 0 5 10 15 20
hr hr
3.0 — optVPD
55 - Ie.afVPD 30 -
— airVPD
2.0 A
251 —— PATG T1
1.5 A —— PATG_T2
|1l —e— T
10 \ 20
0.5_ 15_
0.0 A
0 5 10 15 20 0 5 10 15 20
hr hr
80
30 A
70 4
25 A
60 —— PATS T1
—— PATS T2
50 - 20 —o— T
40 A 15
—e— RH /_\_
304 —— RHo 10 4
0 5 10 15 20 0 5 10 15 20
hr hr
—o— AH
127 ——  AHo
10 A
8_
6_
0 5 10 15 20 0 5 10 15 20
hr hr

1000 A

900 -

800 -

700 A

600 A

500 ~

400 -

—— PATG C1
PATG_C2

|

m_

12
hr

14 16

800 A

700 A

600 -

500 A

400 -

—— PATS C1
—— PATS_C2
—-0— C

m_

12
hr

14 16

1100 A

1000 ~

900 A

800 A

700 A

600 A

500 A

400 A

—— PAVT C1
—— PAVT C2
—o—- C

1400 A

1200 A

1000 A

800 A

600 -

400 -

200 A

PATG_P1
PATG_P2

P

kAR

10

12
hr

14 16

1400 A

1200 ~

1000 A

800 A

600 -

400 -

200 A

PATS P1
PATS_P2
P

ISR

10

12
hr

1400 A

1200 A

1000 A

800 A

600 -

400 -

200 A

10




- 20

o
oN
1
|

o
N

o
<

24 -
27 -
30 -
33 -
36 -
39 -
42 -
45 -
48 -
51 -
54 -
57 -

0 -
3 -
6 -
9 -
12 -
15 -
18 -
21 -



